Mathematics – Geometry EOC

Curriculum Development and School Improvement- Secondary

MA.912.G.3.4 – Worksheet 1

Name:  ______________________________________ Date:  ____/____/____ Period:  _______


1. In the rectangle below, which of the following allows us to prove 
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. Opposite sides of a rectangle are congruent

. All angles of a rectangle are right angles.

. Reflexive Property of congruence

4. ZPSR=ZQRS

. Allright angles are congruent

SAS

?





A.  AAS
B.  SSS
C.  CPCTC
D.  HL  
2. In the proof below, which reason is missing?
[image: image4.png]Given: ABCDis a parallelogram, diagonal
AChisects ZD4Band ZBCD
Prove: Parallelogram 4BCDis arhombus
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[image: image6.png]Statements

Reasons

1. AB| DC 1. Opposite sides of 2 parallelogram are
parallel

2./2=/3 2. ?

3. AChbisects ZD4Band ZBCD |3. Given

4 Zl=s2and £3= 24 4. Definition of bisect

5. Zl=/3and £L2= 24 . Transitive Property

6. 6. Sides opposite congruent anglesina

4D=DCand 4B=BC

triangles are congruent

- ABCDis a rhombus

7. Definition of rhombus.





F. Alternate exterior angles are congruent
G. Alternate interior angles are congruent
H. Corresponding angles are congruent
I. Same-Side interior angles are congruent   
3.  In the proof below, what is the missing reason?
[image: image7.png]Given: ABCDis akite
Prove: ZB= 2D
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Reason

1. 4B=A4Dand BC =CD 1. Definition of kite
2. 4C=AC 2.?

3. A4BC = A4DC 3. sss

4. /B=/D 4. CPCTC





A.  Symmetric Property
B.  Reflexive Property
C.  Transitive Property
D.  Distributive Property 
4.  For the given parallelogram, what is the missing statement in the proof below?
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1. 4D | BC and 4B || DC

1. De

n of a parallelogram

*/4BD = /BDC and ZDBC = 24DB|

2. Alternate interior angles formed by parallel
lines and a transversal are congruent

3.7

3. Reflexive Property of Congruence

4. MDB =ACBD

4. ASA

5. AD = BC and 4B = DC

5. CPCTC
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5.  For the quadrilateral shown below, complete the reasons for the proof shown.
[image: image15.png]Given : E”Dic
Prove: Z4=/C

Statements. Reasons
1. 4B | DC 1. Given
2. /4BD = /CDB 2. Alternate Interior Angle Theorem
ZADB = ZCBD
3. BD=BD 3. Reflexive Property of Congruency
4. A4BD = ACDB 4.7

5. L4=£C

?





A.   SSS;  CPCTC
B.   ASA;  CPCTC
C.   SAS;  CPCTC
D.   ASA;  Proof
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